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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FEEEH |45 —H#HE —H#HE BRHET 100 | HBRHET 10.0 BRHEET R4.6.2
BEEEH) |17 Z#H Z#H BREtEd 100 [#HET 10.0 B3 R4.6.7
HEACEX N EPL P N /LA | BREET 100 [#HET 10.0 BT R4.6.27
HEICEETNEEDD) JEHE EE B3 100 | BHEY 10.0 BHEd R4.6.22
HFEEEH) | ¥av) JEH AIEJI BmEtEd 100 [#HET 10.0 BmEEd R4.6.16
FEEXEH) [Favy i RH BT 100 [#HET 10.0 BmEEd R4.6.29
FREEH) | *a2) i H =i BREET 100 | BHET 10.0 BREET R4.6.13
FEEZEH) | *av) IMEST I BmEtEd 100 [#HEd 10.0 BmEtEd R4.6.21
FFE(ExH) a7l INMEST INE B9 100 | HBHET 10.0 BREEd R4.6.27
FREEH) |1 *a) IMET 15 H REET R4.6.22
xR (EZX$H) [Favl IMET 7 BmEEd 100 [#HET 10.0 BmEEd R4.6.24
FEEXEH) [Favy —3#HE —3#HE B9 100 [#HHET 10.0 BmHEEd R4.6.3
FEEXEH) | a2l Z3#H -3 H BmEtEd 100 [#HET 10.0 BREtEd R4.6.6
FxE(EZX$H) [Favl N F/LA [ BREET 100 [#HET 10.0 BT R4.6.24
HEACETNEEYD) N i HE B9 100 | BHEY 10.0 BmEEd R4.6.27
FEEEH) |*av) K& /LA | BEET 100 [#HEd 10.0 BREtEd R4.6.24
HEACETNEEYD) N B BT 100 [#HET 10.0 BmEEd R4.6.30
HEICETNEED) N mH B3 100 |BREET 10.0 BHEd R4.6.24
FEEEH) |¥av) KE fHE BREtEd 100 [#HET 10.0 BREEd R4.6.27
FFE(ExHE) 2ol N R H BHEEY [ 100 |BHEET[ 100 BRHEET R4.6.27
FREEH) | *a2) RE R HE BREET 100 | BHET 10.0 BREET R4.6.28
FxE(EZX$H) [Favl N RE BmEtEd 100 [#HET 10.0 BREEd R4.6.24
FFE(ExHE) a7l N XE BHEEd | 100 [#BHEEI] 100 BRHET R4.6.24
FREEH) |*avY) RE RE BmEtd 100 [#HET 10.0 BREtEd R4.6.24
xR (EZX$H) [Favl KE Hh BT 100 [#HET 10.0 BmEEd R4.6.20
FE(EXH) X2l N Ho BHEEd | 100 [#BHEEI] 100 BRHEET R4.6.27
FEEEH) | *avY) RE H BmEtEd 100 [#HET 10.0 BREtEd R4.6.27
HEACETNEEDD N B BHEd 100 [#HET 10.0 BREEd R4.6.20
FE(EXH) a0l PN e BEET| 100 |BEET| 100 BRHEET R4.6.28
FEREEH) |*av) K& EH BmEtEd 100 [#HET 10.0 BREtEd R4.6.29
EAC S E=wl =% B H BT 100 [#HET 10.0 BmEEd R4.6.23
HEICETNEED) =% 2 H B3 100 |BREET 10.0 BHEd R4.6.27
HFEEZEH) |¥av) a3 KAR 0.0 0.0 0.0 0.0 BREtEd R4.6.23
R (EXH) [YJ—E—X [[HHA FHE B9 100 [#HET 10.0 BmEEd R4.6.2
B (BxfH) |[V)—E—X  [IZHHA —3#HE BRHET 100 | HBHEd 15.9 BRHET R4.6.6
FxE(FExH) | HVvA45y JEHE AITE I BmEtEd 100 [#HET 10.0 BREEd R4.6.13
FEICET NP AP JEM FH B9 100 [#HET 10.0 BmHEEd R4.6.1
HEACELI NP REPYP IMET INE BREET 100 [#HET 10.0 BREtEd R4.6.7
FE(EEH) (b4 yry IMET EH BT 100 [#HET 10.0 BmEEd R4.6.17
HEACET PRSPV N i HE B9 100 | BHEY 10.0 BmEEd R4.6.27
HEACELI NP REPYP XE RE BREET 100 [#HHET 10.0 BREtEd R4.6.27
R (EFH) (v yry KE T/HLA | BREET 100 [#HET 10.0 BmEEd R4.6.23
HEICET NP RS PY P PN T/MUA BmHEEd R4.6.27
FEEEH) | YV y5Yy K& EHx BREtEd 100 [#H+Ed 10.0 BREtEd R4.6.27
HEAC ET NP RS PP N B BT 100 | HBHEd 10.0 BmEEd R4.6.29
Hx(EXH) | Xvx—= KA BE BRHEd R4.6.21
X (BxH) | RFyIITURY [IBTHA FHEE BRHET R4.6.2
EHEACET NP JEE miAJIl BRHET 100 | HBHET 10.0 BRHEEd R4.6.20
FREEH) |k -3 H -3 H BREtEd R4.6.29
HEACETMREN = dbtEHE BRHET R4.6.30
FEEXH) [FR Z3#HE Z3#HE B9 100 [#HET 10.0 BT R4.6.23
HREEH) |[FX XE Hh BmEtd 100 [#HET 10.0 BREtEd R4.6.23
FxE(EXEH) [FR KE Hh BT 100 [#HET 10.0 BREEd R4.6.23
HE(FEEH) E—> JEE A E I B9 100 | HBHEYT 10.0 BmHEEd R4.6.24
HREFH) |E—<> a3 ¥ H BREtEd 100 [#HET 10.0 BREtEd R4.6.23
FEEEH) [E=Fa10) N Hr BT 100 [#HET 10.0 BREEd R4.6.17
e (Bx$H) |IS=k2h —3#HE —3#HE B9 100 | BHEY 10.0 BmHEEd R4.6.29
xR EXEH) |IS=hE a3 ¥ H BmREtEd 100 [#H+Ed 10.0 BREtEd R4.6.23
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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

s o FRER T E = BIEE B E B BIEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

EHEIEETNMEEIA EH ] BRHET 100 [BHET 10.0 BmHEEd R4.6.28
BHREFH) |HIF57— IMET INE BREtEd 100 [#HET 10.0 BREtEd R4.6.16
R (EXRH) [Ty IMEST INE BT 100 [#HET 10.0 BT R4.6.17
FECGEERR) (VoA KA BE B3 100 [#HHET 10.0 BHEd R4.6.27
FEGEEH) |V IMEST EH BmEtEd 100 [#HHET 10.0 BmEEd R4.6.27
EEAEEINNER EGHR — B8 0.0 0.0 0.0 0.0 BmEEd R4.6.20
Pk GEESF) |[FARE KA EX B3 R4.6.22
BEEEH) /I\IYA4 JEH HE BmEtEd 100 [#HEd 10.0 BmEtEd R4.6.2
¥k (EXRH) [\ HA INMEST INE B9 100 [#HET 10.0 BREEd R4.6.21
BRCEZH) |I\I5A4 a3 el BREtEd 100 [#HH+ET 10.0 BREtEd R4.6.9
B (EXEH) (oY A b=b. i HE BmEEd 100 [#HET 10.0 BmEEd R4.6.9
P (ExH) 52X+ =% HH B9 100 [#HHET 10.0 BmHEEd R4.6.1
R ERH) |S=F50H94 iEE B EJI BmEtEd 100 [#HET 10.0 BREtEd R4.6.2
P (EXF) [V—TLEX KA Ek BREtEd 100 [#HET 10.0 BT R4.6.22
Pk (EFFH) [V—TLEX Kif EE B9 100 | BHEY 10.0 BmEEd R4.6.22
FEEEH) |LFX ] B BmEtEd 100 [#HEd 10.0 BREtEd R4.6.1
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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

s o 1RER T E = BIEE BIEE BIEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE
PR (EXRFH) |[AIRE EH BT E I BHEEY | 100 |BHEET | 100 BmHEEd R4.6.14
FREFH) | AT JEH HE BREtEd R4.6.8
HEAEET N ESS Z3#H Z3#H BT 100 [#HET 10.0 BREEd R4.6.23
P (Ex$H) == JEHE RE BHEEY | 100 |BHEET | 100 BHEd R4.6.30
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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

s o FRER T E = BIEE B E B BIEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

¥k (BE58) |[Hh7 =% A BRHET 100 | HBRHET 10.0 BmHEEd R4.6.1
X (REH) |DvA(4E EGHR FHE BREtEd 100 [#HET 10.0 BREtEd R4.6.23
FEGAERRH) |OvHAE JEE miIEJI BT 100 [#HET 10.0 BT R4.6.27
¥ (BE5H) |DvhAE A% B\ B3 100 [#HHET 12.4 BHEd R4.6.23
X (REH) |DvA(AE Z#H Z#H BmEtEd 100 [#HHET 10.0 BmEEd R4.6.1
HEACGET NIPA R G KA LiEHE BmHEEd] 100 BmHEEd] 100 BmEEd R4.6.17
BEAREH) |DvAH(4E =% ¥ H RHEd | 100 RHEd | 100 B3 R4.6.17
X (MREH) |DvA(4E b=b. i BmHEtEd] 100 BmHEtEd] 100 BmEtEd R4.6.23
FEGEXRRH) |O¥vHAE =i HH BRHEET R4.6.23
HEAGEXNPAT RS b=b. el REET R4.6.9
FEGEERRH) |OvHMAE b=b. Lt BmHEEd] 100 BmHEEd] 100 BmEEd R4.6.9
¥ (BE50) |DvhHAE =i i@ RHEY | 100 RHEY | 100 BmHEEd R4.6.27
HEAGEZNEEED JEHE EE BREET R4.6.13
EHEACGETNEE =P KE E/MUA | BHEY | 100 BmHEEd| 126 BT R4.6.6
HEAGET NEEESS =% ¥ H RHEY | 100 RHEY | 100 BmEEd R4.6.24
E (BEH) |7 ¥ a3 dLtEHE BmHEtEd 100 BmHEtEd] 100 BREtEd R4.6.3
HEAGET NEEESS =% LiEHE BmHEEd] 100 BmHEEd] 100 BmEEd R4.6.3
BEACGESZ NEEESS =% £H RHEd | 100 RHEd | 100 BHEd R4.6.15
FERUARELH) =V JEHE AITEJI BmHEtEd] 100 BmHEtEd] 100 BREEd R4.6.14
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REVFICBTIRHAMEMERZAERR

54456 B AIFE

(BAfL: RO JL/kg)

s o FRER T B E B B E B I E B ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

Riifa X JEMA EE BRHEY[ 100 BRHEY| 100 BmHEEd R4.6.20
k] X JEE EE BmHEtEd| 100 BmHEtEd] 100 BREtEd R4.6.21
Riifa XA JEM FH BmHEEd] 100 BmHEEd] 100 BT R4.6.23
RHizE 2 i B\ REET R4.6.16
k] X £ /e BmHEtEd] 100 BmHEtEd] 100 BmEEd R4.6.6
Riifa a4 JEM EE BmEEd R4.6.2
RHizE a4 JEH H REET R4.6.20
k] A £ /hep BmEtEd R4.6.6
Riifa HHS5 R EH EE BmHEEd] 100 BmHEEd] 100 BREEd R4.6.6
RHizE YHSUR JEHE FHE BREtEd R4.6.13
RufE TS5 JEH miiEJI BmHEEd] 100 BmHEEd] 100 BmEEd R4.6.30
Riifa EE JEE EE RHEY | 100 RHEY | 100 BmHEEd R4.6.29
RHizE EE JEH B EJI Rt 100 Rt 100 BREtEd R4.6.21
Ruifs EE JEH FHE BmHEEd] 100 BmHEEd] 100 BT R4.6.28
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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

% o REY o4 BIEE BIE B BB [
R H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R AE B R AE
3 R4/ [Hf A —EB18 Bt R4.6.20
T A4/ b=b. 0 E 50.6 R4.6.3
ITES R/ ZDith =507 BRHET R4.6.14
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EEMEFICES TS EBZBERER
SH4E6 A AIE
(BAfL: RO JL/kg)

] - BRI | opoa B A A8 o=
R ® wis | FRER | pomnisa) | evvaien  |esmsamm| WER
R PR SE R PR SE
ZotoRsMIES) [/ \FIY AR A BHEHEY| 100 BHEEY! 100 BHEY R4.6.9
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